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Overpopulation and the One-Child Policy


Overpopulation: Create the population growth bar graph and answer the following questions.
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1.  In general, what do you see happening with the world’s population on this graph?

2.  After reaching 1 Billion people, how many years did it take the population to reach 6 
Billion people? 

3.  What are some realistic ways you can think of to keep the population from reaching 9 
Billion people by 2050?
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lSource: U.S. Census Bureau, International Data Base.
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Population Data:














1 AD = 200 million


1850 = 1 billion


1930 = 2 billion


1975 = 4 billion


1999 = 6 billion


2050* = 9 billion





1.  Which age group has the highest population?






























































2.  How many 15-19 year old females would you find in China?






























































3.  Who lives longer, males or females and how can you tell?


















































4.  Why would it be good for China to have fewer children than older people?














